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Algebra 1 — Fall Semester Exam Review
(]

D
1. ZA and «Bare complementary. The measure of
ZBis 30° more than the measure of £4. What is
the measure of each angle? EA- ©O
A A A y B0tA =90 072 Z
P s30% A

2. ZT and zUare suppb@‘»entary The measure of
Z T is 24 more than twice the measure of ZU.

What is the measure of £U7?
u[dutgq G_\A_+3ui24:|80
\ 3u +24 =180 \4'521ﬂ

-24
E I% T=2(52)
3 3

3. You are driving to visit a friend in another state

who lives 440 miles away. You are driving 25
miles per hour and have alread

Write and solve an equation to find how much
longer in hours you must drive to reach your

destination.
H40=215t5%h
-279 -2%9
9= 99 | % move
99 99 hovurs

3=n
4. A customer went to a garden shop and brought
some potting soil for $17.50 and 4 shrubs. The
total bill was $53.50. Write and solve an
equation to find the price of each shrub.

=5%.50
Hl}_.%g’w\x b g

= 30

costs $9]

" INSIDE:

KEY.
5. Kim has determined that when she reads at a rate
of 4 pages per minute, the relationship between
the number of pages she reads, p, and the time
she spends reading.{, is described by the
relationshighich best represents the
dependent quantity in this situation?

X The rate of pages read depends on the

number of pages read. Y
The rate of pages read depends on the time S\oov
spend reading. (3\9,‘_
The number of pages read depends on the
time spent reading.

D The time spent reading depends on the
number of pages read.

"\\,?depend%\- t (time)

OUTSIDE QAR P (9%

Avesny
yo\¥F

P:l—\l:

6. An art supply store is having an inventory sale. All
items are marked down by 25%. Michael plans to
buy three sets of oil paints and two paint brushes.

He calculates the ach item by using
the functior{/(p) = p — 0.25p Awhere p represents

the original price of the item.

A) What is the independent variable in this
relationship and what does it mean in this
situation?

p, origina\ price

B) What is the dependent variable in this
relationship and what does it mean in this

" e price.
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A long distance telephone company charges $4.95
per month and $0.07 per minute for phone calls.
What is the independent variable quantity in this

situation? A chan QP_S

The cost(pé) minute for a long distance call slope
The total cost for a 10-minute long distance
call
C The total monthly charge for long distance
service
@ The number of minutes of a long distance call

cman%vy mo(e Q.&f:\\lé_
A baseball team played a total of 162 games last

season. The number of games the team lost, /,
and the number of games the team won, w, are
represented by the formula below.

1{ =162- yy‘
dCMhd ent lndtﬂhd&’ll‘
Which of the following statement best describes
the relationship between the variables /and w?

A The number of games lost depends on the

total number of games played.

The number of games lost depends on the
number of games won.

‘l( The total number of games played depends on

the number of games won.

The number of games won depends on the

total number of games played

The French Club is holding a car wash fundraiser.
They are going to charge $10 per car, and expect
between 50 and 75 cars.

What is the independent variable in this

relationship? § 0§ €AY S washe
What is the dependent variable in this

relationship? M0 NEW €]V ned
) What is a reasonable domain for this situation?
What is a reasonable range for this situation?

OWIBLO 50EXET5
xS
(100 QU tn)
®SNJe  mooLy<£Fo0
S

%

10. Represent the function x) = {(5, 9), (6, 6), (7, -
2), (-3, -2), (0, 4)} as a graph, table and mapping.
) A X -

"
Wi
&
11. Give an example of a set of data that is not a
function.

REPEhNG XS

-—

12. What is a function?

A re\ahon with no

T-QPQ&\"\QS w's.

13. Which set of ordered pairs represents a function?

10), (5, ’4)1' (7.' 10).‘ (-41 0), 14)
(

, 10), (8, 8), (13, 57), (18, 5), (21, 8)
@-7), (4,-4), (0,0, (1, 1), 3,3), @7
W (35 -6), (16, -4), (4)-2), B)2), (16, 4)

(xy

14, If (x, - ? is a solution to the equation
4x -3y =21, what is the value of x?

tx-3(3)=2!

y=-3

-
-

[x=3

15. In 2004 a married couple could have calculated
their estimated income tax, ¢ for that year using
the equation ¢ = 0.25¢ — 6525, in which ¢
represents their combined taxable income. If a
married couple had a combined taxable income
between $60,000 and $64,000, which of the
following is a reasonable amount for their income

tax?
16,525 ¢= bo,000
8,975 “©52$
}‘{ $15,500 U5
inbexweer o 4000
..*Lsf-' : urs '&5 iq.u? - . 25( ‘oq‘ooo)-bSZS

7S
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16. a Wlnter Party The

Tony and Jack are plannirjg
disc jockey charges a

fee of $400,00 OPC
caterer charges a $15.00 fee @ Person. If Tony
no morethan. $1,000,

and Jack want to spend no
what is the maximum number of people who can

attend the party? Z ‘.oo (®)
'ﬂ’{g 6\ X , —400
5 o0
't0 people S lRaT:
NOXIUYY) X £ Y0

17. Write the equation that could be used to
determine, ¢, the total cost for 7 number of people
attending the Desmond wants to take guitar

lessons. The one-time registration fee is $60, and
each lesson cost $40. Write an inequality that can

be used to determine x, the number of lessons he
can take if he wants to spend no more than ¢

doIIars.\o0+ L‘-OX 4 C

18. Mr. Adams bought a refrigerator that cost $1200,
including tax. The cost of electricity to run this
refrigerator is estimated at $78 per year. Which
equation best describes ¢ the total cost of the

refrigerator including electricity over 1 years of

operation? c‘_ l¢00 -\— ?8 n

A ¢=1200(78n)
B ¢=1200(n+78)

¢ =1200-78n
¢ =1200+78n

19. A waitress at a local restaurant earns $3.25
hour plus tips. ke-bwe=waaks she earned a total of
$720, including $531.50 in tips. How many hours
did the waitress work eerig-tirrs2-weelepered?

2

250N +92)- 90 F 120
i (xipS) T ’
| - 62| .90
|
26 = | 88.90

—_— k= ©8
| She wov'¥ed cgy o]

Meast—=> =
At YOS £

20. What is the slope of the line shown in the graph?

L™

21. Find the slope of the line that passes through the

points (5, 7) and (2, -3). - %
YA &

22. Which of the following linear functions do

represent a rate of change of —%?

]

-3 <

\\T_\ m-_z
21> m= =
2P 3
DTN
—-
2__2
mes—=z= "=
>((6 4yand (-12, s)ﬁé‘gté*;vﬂ?- -1 2
4 4t oM
@ x| 3°[1[ s 9]“\_,&_.;
ylwla|2]8] 4 2
v % - v
)(2x+3y=12 SDNQ‘FVT%‘_
-2x  -2x
3%6 2Jx+V2
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23. What is the glope and p~intercept of the equation 26. !Jse the Fable below toldetermine the foI|ovying
-ﬂ +3y =_378‘;( SD\qeeDr \b) \6 =(Y) x,\rb :ir:]fg.rmatlon: Slope, Y-intercept, and Equation of
3_\5 s "?:5 '1'!3_ x y
= ¥ 2 = 2 X+
y="Zytlp | 5 = 4
3
‘_5: ™ X 4 b 8 17

[STAT)

27. The graph below represents the total amount of
money that Janice earns, based on the number of
hours she works.

N ] O O 2 0 O
9»71“.T¢ T’F o / J
= = sk FEIS S : | | | |
., 1 0 . D st ; / LI
EESERE s anEEmEEE : v R
. Slﬁe . . el I 4 T I
Find the rate. nd write the Equation of [ ‘; ! f
the line in YatRyEen T Lo I el | 'i
- -4 ¥ 72721 A O O O
M' W - P2 3 4 & 7 8 9 o 0 12 13
9 i \6: ?X/a Hours Worked
b: "2 o A) At what rate does Janice earn money?
§15 eNOry 2 nowvs ($"r-90 perhour)
25. Write an inequality that represents the graph _
shown below. B) What equation would represent this graph?

8‘5’7‘.6)(
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28. Matt opened a bag of almonds and is eating them 30. According to the data shown below, which would
f k. Each o1 d has 15 be the best prediction of the number of passengers
CiRdkoNdtit ECHISCNG 1S 4 P ENd.fas at the International Jetport for the year 2008?

grams of fat. Look at the graph below. ———
R _ : _ _ umber of Passengers 0.
’ A ENRN Year (millions) 202, i \
- | | 1980 30.6 94342010 T8
5 [ ) 1985 385 .29
o \ { H | T 10
g HINCE i | 1990 464 I'°
< o - - 1995 543 J%T°
w? . ! = 2000 62.2 .
S - | ol
S | N
£ TN 70.1 million
by | 68.5 million
s i \ 74.8 million
O | | —-\.\ | ¥ 78.0 million
O0 I 20 40 I 100 120 140 : ?56:

60 . 80 160
Fat Consumed (g)
31. Look at the graph below.

[t

A) What does the x-intercept represent?(\Bolo) ! ‘ o i
How much £33+ he consumed ‘ HH

| ¥
! ¢ 1 b L

after eating e\l e s\monds - SRS E. '_! EEEEEEs
B) What does the p~intercept represent? (0|3) E ‘ } ‘ ik | i | 1._|. =
How wY cups o€ FHEEHHH |
s\munas Wexe in +he 1029 — eans
T -—‘ -1 |

o4 e bQ%iOﬂiﬂg. Z"."I' I O
29. Determine if the following relationship is linear. If | =i
it is, write a function rule.

--18 =
x| y i "G‘ == A) Write the equation: % . Ll'

+ -8 [ 23 4
* ti 215 ;4\88 m= - = -2 B) What is the slope? Z€Y0

4 |-13
2 < 6 | -19 P~
( STP{E 32. Graph the equation 2x —4y =8 on the graph

- - below. (Hint: Solve for vy first)
\A 3X \ ) e I Qx-"{\rB

T
1 ]
] Yy =218

EEcesERSiEcRRicERns: 5
A Yy=3x-2

e e e

1_4_'__;__. I '_.'__T": _é_ v=
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33. Lori is 4 years older than 3 times the age her son Jon. The difference in Lori’s age and Jon’s age is 26 years. How
old are Lori and Jon?

L4433 (4r3) 320 J= Lo = 3346

SRS Y
2z 2

34. A rental car company charges a customer $60 a day plus $0.32 per mile. Write an equation that describes the
relationship beugen the cost, ¢, of rentmg the car fol| 2 days and the number of miles, m, the car was driven?

<1204 0.2
B) Whatis the slope? _* ’b?—

C) What is the meaning of the slope in this situation? cOosk ("39( ml\€

A) Equation:

LineZ
35. What is the effect on the graph of the equation 6x +3y =12 if 12 is changed to 367  {g) r%ﬂ? fpx&B\J 3b

A_The line is translated up 24 units. x¥ - —lox =lox e
Y= 3

e line is translated up 8 units.

= -lort
%‘I‘he line is translated down 24 units. 3W= "22“”2 3%‘ ‘i
;S\The line is translated down 8 units.
- ..-zx
..2)( @ Y C

%(ap\ﬁ 3 Com[Bre.
36. Which equation represents the line that passes

through the point (6,-‘2i and has a slope of 5 ?
\

, .
(ynts TSR
X y-1mee - y=mbx)
i 3

X 2o y€2)= 5(x0)

D. y+2=§x+4 \6*—2 = ir\/—!”

o2



